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लगना  It takes 5 minutes to change the babyʼs diaper

An Indirect Sentence Construction with लगना for telling quantities of time, vegetables 
etc. to do something.

Indirect 
Object plus 

को

Verb Phrase 
plus '

Quantity लगना
agrees with 

quantity & carries 
the tense

Translation

म&झ( / म&झ को +,-सको जा0 1 बारह घ67 लग8 9। It takes me 12 
hours to go to 
Frisco.

उसको / उ< +,-सको मोटर 
चला0 1

दो +दन लग8 @। It used to take 
her 2 days to 
drive to Frisco.

ह1 / हम को +,-सको गाड़ी 
चला0 1

लगभग इEकीस 
लीटर FGोल

लगHगी। Driving the car 
to Frisco will 
take (us) about 
21 liters of 
petrol.

माताजी को आलK गोभी 
पका0 1

बारह कीलो 
आलK

लM। It took 12 kilos 
of potatoes (for 
mother) to 
make the alu-
gobhi.

उन को / उNO इत0 आलK 
छील0 1

कम < कम ढाई 
घ67 

लM 9। It has taken 
her at least 2 
and a half 
hours to peel 
so many 
potatoes.

+पछS साल 
आप को

बरफ़ी U िलए 
Xध उबाल0 1

+कतनी Zर लगी थी। Last year how 
long did it take 
(had it taken) 
you to boil the 
milk for barfi?


